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174} 3125 1432  (#&)b—i3— EEVINME 4,298F9 % 1/3

186 31.2.27 1,072|DCMAR—=vo+HIEIE| ¥R ERI—F{ [3218Ax1/3

193| 31.2.28 5821 (MR)VF—FHH |[oE—#hvos—HeAD)| 248098 - 739 4 X s
208| 31.3.28 1,080 () IR —FHEHE |ac—#hy2 52— (38 4)|3.240M x 1/3

& &t

62,067




F7EHA (F2&BR)

RIREFOELEE R

% & AGE
BEES XHEAR  XHHE X%k f -
17| 30.4.28 15,000 EHBE 4 P SN ERTE B B S TR
26| 30.5.26 15,000 EEBE 5 A S B E T BRI E
54| 30.6.30 15,000 EHEHE 6 8 4 B E B B S TS SN
71| 30.7.28 15,000 EHHE 7R 5 TS E B B TR
86] 30825 15,000 EREE 88 5 IR HE B B F 4R
108 30.9.29 15,000 EHBEBE 98 5 BUiS IS Bh i Bh £ TSR
116 30.10.27 - 15,000 E Y] 108 HBIEE SR E 4R
133[ 30.11.24 15,000 ERBE 11 B SR E B R TS
148| 30.12.22 15,000 EHRE 128 S BT R L BB
168 31.1.26 15,000 EEBE |1 AOREIDHEESHRE
182| 31.2.23 15,000 EBHE 2 B 5 BN T B W B S TSR
211 31.3.30 15,000 EHRE 3 A 5 IS E B A B S TR AN
= 180,000




